QUESTIONS & ANSWERS

Has your VSO received funding from the ASSU Undergraduate Senate Appropriations Committee in prior years? If so, how much and when?

Yes.

Have you registered your events/organizations with events.stanford.edu? (note: registration is mandatory) (yes/no)

Yes.

How large is your officer core?

Our officer core consists of 21 students.

If you applied for Special Fees last year, is there an increase in the amount you're seeking this year? If so, why?

We are asking for a modest percentage increase over the approved amount from last year in order to sustain the higher level and quality of programming we strove to achieve this year and hope to continue next year.

Please define the services provided by your group with the Special Fee, as per the ASSU Constitution:

n/a

Please list all:1) assets, 2) reserves, 3) authorized and unauthorized non-ASSU bank accounts, 4) sources of funding other than Special

1) \$4.122.1

2) \$67,802.06

2) \$67,802.0 3) n/a

4) The Stanford Fund: \$2,682

What events/programs does your group hold throughout the year for the Stanford Community?

All of our events other than the Freshman Convocation are open to all of campus. So far this year, the Kwanzaa celebration and the Battle of the Bay were very well attended by a wide representation of students from all over campus.

What is the fundamental goal/purpose of your VSO (please limit your response to 50-100 words)?

The BSU strives to meaningfully represent the varied interests of Stanford's Black student population by developing and implementing advocacy and community-building initiatives that foster a greater appreciation for Black issues, history, and culture within the Stanford community

What percentage of your total membership is undergraduate? Graduate?

We are strictly an undergrad group.

Have you applied for Special Fees in the past 3 years? If so, please detail the outcome of each attempt.

Yes. We have received Special Fees each of the past 3 years, with the average amount recommended by the Senate being over \$30,000.

How do you plan to publicize your events/programs to the greater Stanford community? Have you registered with Events at Stanford?

We use flyering as the main publicity for all our events. In addition to this, we publicize through Facebook events, word of mouth, and email. Yes.

How many members are on your email list?

The BSU does not have its own email list.

If you are an umbrella group, please list the groups for which you are applying for Special Fees, their ASSU account numbers, and contact

information for their financial officers.

n/a

Please describe a few past events organized by our VSO (please limit your response to 50-100 words).

This year, our largest events have been a Freshman Convocation to welcome freshmen to the school and encourage them to become involved in the community, a Kwanzaa celebration complete with dinner, a speech, and performances, and the Battle of the Bay, a rap and spoken word competition attended by students from all over campus and off campus.

What are the three largest line item requests in your budget and why?

For this upcoming year, our three largest are Event Food, Honoraria, and Equipment Rental. Many of our large events are dinner programs, where we feed hundreds of students as part of a larger program and food is essential. Honoraria is also a large necessity for us as many of our events have speakers intended to inspire and motivate our audiences. We also need to pay for DJs at various events.

What is the average attendance at your events?

300-600

What is your total membership?

All black undergraduates (about 700) are automatically included in the group, and anyone else is welcome to join.

When and why was your VSO established (please limit your response to 50-100 words)?

The Black Student Union began in 1968 as an organization to represent the varied interests of Stanford's Black student population. Over time, it has evolved into a large programming and advocacy group, charged with undertaking initiatives to foster appreciation for African-American culture and issues within the Stanford community.

Why are you requesting Special Fees?

As a large group encompassing all black students and reaching out to the entire Stanford community, our programming is extensive and the numerous large-scale events we organize cannot be covered by only \$8,000.

[#317]

3/26/2007 ASSU Special Fees

BUDGET DETAIL									
		Budgeted	Requested	Recommend	Approved	Petitioned	Elected		
Battle of the Bay		\$(2,822.00)	\$2,822.00	\$2,822.00	\$2,822.00				
A showcase of freestyle 6310 Honoraria Fees (Undergraduate Special	e rap and spoken word talent by students from sever DJ and prominent rapper to judge/perform (Keak da Sneak last year)	al colleges throughout \$(1,000.00)	\$1,000.00	\$1,000.00	\$1,000.00				
Fees/Annual) 6320 Technical Services (Undergraduate Special	Required AV technician: \$60.50/hr x 4 hours = 242	\$(242.00)	\$242.00	\$242.00	\$242.00				
Fees/Annual) 6340 Security Services (Undergraduate Special Fees/Annual)	SEPs to secure the event; total charges this year were \$1,030	\$(1,000.00)	\$1,000.00	\$1,000.00	\$1,000.00				
7140 Copies (Not Marketing) (Undergraduate Special Fees/Annual)	Programs: 500 x .05 = \$25	\$(25.00)	\$25.00	\$25.00	\$25.00				
7220 Marketing Copies / Print Expenses (Undergraduate Special	300 publicity flyers x .07	\$(21.00)	\$21.00	\$21.00	\$21.00				
Fees/Annual) 7420 Equipment Rental (Undergraduate Special Fees/Annual)	Technology replacement fee for Kresge: 4 hrs x \$75/hr = \$300, 2 wireless mics for performers: 2 x 78 = \$156, 3 standard mics for judges: 3 x 26 = \$78	\$(534.00)	\$534.00	\$534.00	\$534.00				
Bay Area College Co		\$(3,926.70)	\$3,926.70	\$3,926.70	\$3,926.70				
6310 Honoraria Fees (Undergraduate Special	illitate fellowship and cooperation between Stanford s Speaker to emphasize the importance of striving for academic excellence while maintaining community involvement.	tudents and those of o \$(500.00)	ther local unive \$500.00	ersities. The prog \$500.00	ram consists of v \$500.00	workshops and sp	eakers desig		
Fees/Annual) 6320 Technical Services (Undergraduate Special	Required AV Technician \$60.50 x 6 = \$363	\$(363.00)	\$363.00	\$363.00	\$363.00				
Fees/Annual) 6560 Event Food (Undergraduate Special Fees/Annual)	Breakfast and lunch for 200 volunteers and attendees: $200 \times \$7 = \1400	\$(1,400.00)	\$1,400.00	\$1,400.00	\$1,400.00				
7140 Copies (Not Marketing) (Undergraduate Special Fees/Annual)	200 4-page registration packets (200 packets x .05 x 4 = 40)	\$(40.00)	\$40.00	\$40.00	\$40.00				
7220 Marketing Copies / Print Expenses (Undergraduate Special Fees/Annual)	150 announcement letters to local universities: 150 x .05 = \$7.50	\$(7.50)	\$7.50	\$7.50	\$7.50				
7420 Equipment Rental (Undergraduate Special Fees/Annual)	Technology replacement fee: \$75/hr x 5 hrs = \$375, 2 microphones @ \$26 each = \$52	\$(427.00)	\$427.00	\$427.00	\$427.00				
7510 Facilities Rental (Undergraduate Special	4 classrooms in Cubberley x \$100 = \$400	\$(400.00)	\$400.00	\$400.00	\$400.00				
Fees/Annual) 7520 Facilities Janitorial (Undergraduate Special Fees/Annual)	ABM Janitorial services: \$50 x 4 classrooms = \$200	\$(200.00)	\$200.00	\$200.00	\$200.00				
7710 Travel Fares (Undergraduate Special Fees/Annual)	Roundtrip airfare for speaker	\$(400.00)	\$400.00	\$400.00	\$400.00				
7740 Accomodations (Undergraduate Special Fees/Annual)	2 nights @ SLAC guest house: \$94.6 x 2 = \$189.20	\$(189.20)	\$189.20	\$189.20	\$189.20				
Black History Month		\$(3,455.20)	\$3,455.20	\$3,455.20	\$3,455.20				
6310 Honoraria Fees (Undergraduate Special	historical achievements of Black activists at the begii Speaker knowledgeable in the history of black activism	\$(400.00)	\$400.00	\$400.00	\$400.00				
Fees/Annual) 6560 Event Food (Undergraduate Special Fees/Annual)	Traditional African-American cuisine for 250 catered by outside caterer: $250 \times \$8 = \2000	\$(2,000.00)	\$2,000.00	\$2,000.00	\$2,000.00				

Black History Month ce	lebration	Budgeted \$(3,455.20)	\$3,455.20	\$3,455.20	Approved \$3,455.20	Petitioned	Elected
	torical achievements of Black activists at the beginn			ψ5/ 1 33.20	45,433.20		
7220	300 copies x .07	\$(21.00)	\$21.00	\$21.00	\$21.00		
Marketing Copies / Print Expenses							
(Undergraduate Special							
Fees/Annual) 7420	Medium sound system from Event Services:	\$(320.00)	\$320.00	\$320.00	\$320.00		
Equipment Rental	\$268, 2 microphones @ \$26 each = \$52	+(0=0.00)	7	4	4		
(Undergraduate Special Fees/Annual)							
7510	Ricker rental fee: \$50, Dining Supervisor fee:	\$(125.00)	\$125.00	\$125.00	\$125.00		
Facilities Rental (Undergraduate Special	\$15/hr x 5 hrs = \$75						
Fees/Annual)							
7710	Roundtrip airfare for speaker	\$(400.00)	\$400.00	\$400.00	\$400.00		
Travel Fares (Undergraduate Special							
Fees/Annual)	2 nights at CLAC quart bourse #04.60 v.2			+100.20	+400 20		
7740 Accomodations	2 nights at SLAC guest house: \$94.60 x 2 = 189.2	\$(189.20)	\$189.20	\$189.20	\$189.20		
(Undergraduate Special							
Fees/Annual) Black Men's Celebration	n	\$(1,186.00)	\$1,186.00	\$1,186.00	\$1,186.00		
	positive achievements of Black men throughout his		+-,-50.00	+=,=00.00	+=,=====		
6310	Alum to speak about Black men's achievements	\$(200.00)	\$200.00	\$200.00	\$200.00		
Honoraria Fees (Undergraduate Special	and possible future actions						
Fees/Annual)	Lunch 6 - 150 AF - 150 AT 250						
6560 Event Food	Lunch for 150: $$5 \times 150 = 750	\$(750.00)	\$750.00	\$750.00	\$750.00		
(Undergraduate Special							
Fees/Annual) 7220	300 flyers x .07	\$(21.00)	\$21.00	\$21.00	\$21.00		
Marketing Copies / Print	500, c. 5 x 107	Ψ(21.00)	\$21.00	Ψ21.00	Ψ21.00		
Expenses (Undergraduate Special							
Fees/Annual)							
7420	Small sound system from Event Services: \$163,	\$(215.00)	\$215.00	\$215.00	\$215.00		
Equipment Rental (Undergraduate Special	2 microphones @ \$26 each = \$52						
Fees/Annual)		¢(1.021.00)	#1 021 00	#1 021 00	#1 021 00		
Black Plaza An event that brings toge	ther the black Stanford population as well as any ot	\$(1,021.00) ther interested studen	\$1,021.00 nts in White Pla:	\$1,021.00 za for food, a sho	\$1,021.00 owcase of Black	Volunteer Studen	t Organizatio
6560	Food for 200: $200 \times $5 = 1000	\$(1,000.00)	\$1,000.00	\$1,000.00	\$1,000.00		
Event Food (Undergraduate Special							
Fees/Annual)							
7220	300 flyers on colored paper x .07	\$(21.00)	\$21.00	\$21.00	\$21.00		
Marketing Copies / Print Expenses							
(Undergraduate Special Fees/Annual)							
Black Women's Celebra	ation	\$(1,186.00)	\$1,186.00	\$1,186.00	\$1,186.00		
	positive achievements of Black women throughout						
6310 Honoraria Fees	Alum to speak about black women's achievements	\$(200.00)	\$200.00	\$200.00	\$200.00		
(Undergraduate Special	acmevements						
Fees/Annual) 6560	Lunch for 150: \$5 x 150 = \$750	\$(750.00)	\$750.00	\$750.00	\$750.00		
Event Food		ψ(/30.00)	φ/30.00	ψ, 30.00	ψ, 30.00		
(Undergraduate Special Fees/Annual)							
7220	300 flyers x .07	\$(21.00)	\$21.00	\$21.00	\$21.00		
Marketing Copies / Print Expenses							
(Undergraduate Special							
Fees/Annual) 7420	Small sound system from Event Services: \$163,	\$(215.00)	\$215.00	\$215.00	\$215.00		
Equipment Rental	2 microphones @ 26 each = 52	Ţ(Z13.00)	4213.00	4213.00	4 _15.00		
(Undergraduate Special Fees/Annual)							
BSU Retreat		\$(375.00)	\$375.00	\$375.00	\$375.00		
BSU Annual Retreat	Food for PSII Detrost	#/27F 00`	#27F 00	#27F 00	#27F 00		
6560 Event Food	Food for BSU Retreat	\$(375.00)	\$375.00	\$375.00	\$375.00		
(Undergraduate Special							
Fees/Annual) Community Cookout		\$(1,541.00)	\$1,541.00	\$1,541.00	\$1,541.00		
Two hour event during sp	ring quarter to bring together and faciliate networki	ing opportunities with	in the greater S	Stanford commun	nity		
6310 Honoraria Fees	DJ: \$100/hr x 2 hrs: \$200	\$(200.00)	\$200.00	\$200.00	\$200.00		
(Undergraduate Special							
Fees/Annual)							

		Budgeted	Requested	Recommend	Approved	Petitioned	Elected
Community Cookout		\$(1,541.00)	\$1,541.00	\$1,541.00	\$1,541.00	- Controlled	Liceteu
	ng quarter to bring together and faciliate networking		-				
6560 Event Food	BBQ for 200: $200 \times $5 = 1000	\$(1,000.00)	\$1,000.00	\$1,000.00	\$1,000.00		
(Undergraduate Special							
Fees/Annual) 7220	300 flyers on colored paper: 300 x .07	\$(21.00)	\$21.00	\$21.00	\$21.00		
Marketing Copies / Print	See thyers on colored paper. See X to.	\$(21.00)	\$21.00	φ21.00	φ21.00		
Expenses (Undergraduate Special Fees/Annual)							
7420	Medium sound system from Event Services:	\$(320.00)	\$320.00	\$320.00	\$320.00		
Equipment Rental (Undergraduate Special	\$268, 2 microphones @ \$26 each = \$52						
Fees/Annual)							
First Fridays		\$(1,533.00)	\$1,533.00	\$1,533.00	\$1,533.00		
	the Stanford community designed to facilitate discus			•		and political issues	and to prov
6310 Honoraria Fees (Undergraduate Special	Speakers at 6 events: \$125 x 6 = \$750	\$(750.00)	\$750.00	\$750.00	\$750.00		
Fees/Annual)							
6560 Event Food	Snacks for 6 events, 60 people each: 60 x \$2 x 6	\$(720.00)	\$720.00	\$720.00	\$720.00		
(Undergraduate Special Fees/Annual)	= \$720						
7220	150 flyers on colored paper for 6 events: 150 x	\$(63.00)	\$63.00	\$63.00	\$63.00		
Marketing Copies / Print Expenses	$.07 \times 6 = 63						
(Undergraduate Special							
Fees/Annual)		#(2 220 05)	#2 220 0F	42 220 05	42 220 05		
Freshman Convocation	m students on the BSU's history, to enlighten them al	\$(3,338.95)	\$3,338.95	\$3,338.95	\$3,338.95	rovide them with a c	unnort eve
6310	Speaking fee for prominent alum to speak about	\$(1,000.00)	\$1,000.00	\$1,000.00	\$1,000.00	Tovide them with a s	иррогс зуз
Honoraria Fees	personal past experiences at Stanford and	+(-//	4=/	4=/	4-7000		
(Undergraduate Special Fees/Annual)	motivate freshmen to remain active within the						
6560	university. Dinner for 175 students catered by Stanford	\$(1,400.00)	¢1 400 00	\$1,400.00	¢1 400 00		
Event Food	Dining: 175 X \$8 = 1400	\$(1,400.00)	\$1,400.00	\$1,400.00	\$1,400.00		
(Undergraduate Special							
Fees/Annual) 7140	Event programs: 175 x .05 = \$8.75	\$(8.75)	\$8.75	\$8.75	\$8.75		
Copies (Not Marketing)	, ,	+()	4	722	422		
(Undergraduate Special Fees/Annual)							
7220	300 copies on colored paper: $300 \times .07 = 21.00$	\$(21.00)	\$21.00	\$21.00	\$21.00		
Marketing Copies / Print							
Expenses (Undergraduate Special							
Fees/Annual)	w.,						
7420 Equipment Rental	Medium sound system from Event Services: \$268, 2 microphones @ \$26 each = \$52	\$(320.00)	\$320.00	\$320.00	\$320.00		
(Undergraduate Special	4200, 2 merophones & 420 caun 452						
Fees/Annual)	Round trip airfare for speaker: \$400	#(400 00)	#400 00	#400 00	#400 00		
7710 Travel Fares	Round trip airrare for speaker. \$400	\$(400.00)	\$400.00	\$400.00	\$400.00		
(Undergraduate Special							
Fees/Annual) 7740	2 nights at SLAC guest house: \$94.60 a night x	\$(189.20)	\$189.20	\$189.20	\$189.20		
Accomodations	2 = \$189.20	\$(109.20)	\$109.20	\$109.20	\$109.20		
(Undergraduate Special							
Fees/Annual) High School Conference		\$(3,537.20)	\$3,537.20	\$3,537.20	\$3,537.20		
_	high school students. The program consists of works					ortance of education	al achieven
6310	Speaker to impress the importance of education	\$(750.00)	\$750.00	\$750.00	\$750.00		
Honoraria Fees (Undergraduate Special	upon the high school students.						
Fees/Annual)							
6320	Required AV technician: $$60.50/hr \times 6 hrs = 363$	\$(363.00)	\$363.00	\$363.00	\$363.00		
Technical Services (Undergraduate Special							
Fees/Annual)							
6560 Event Food	Breakfast and lunch for conference volunteers:	\$(350.00)	\$350.00	\$350.00	\$350.00		
(Undergraduate Special	\$7 x 50 volunteers = \$350						
Fees/Annual)	200 majohushim madosha /F mr				475.00		
7140 Copies (Not Marketing)	300 registration packets (5 pages containing itinerary, conference evaluation, and additional	\$(75.00)	\$75.00	\$75.00	\$75.00		
(Undergraduate Special	helpful information): 300 packets x 5 pages per						
Fees/Annual)	packet x .05 = \$75						
7220	300 announcement letters sent to local high	\$(15.00)	\$15.00	\$15.00	\$15.00		
Marketing Copies / Print Expenses	schools and community organizations: $300 \times .05$ = \$15						
(Undergraduate Special	Y						
Fees/Annual)							

		Budgeted	Requested	Recommend	Approved	Petitioned	Elected
High School Conference		\$(3,537.20)	\$3,537.20	\$3,537.20	<i>\$3,537.20</i>		
-	high school students. The program consists of worksh			-		ortance of educatio	nal achieven
7420 Equipment Rental	Technology replacement fee: 5 hrs x \$75/hr = \$375, Medium sound system from Event	\$(695.00)	\$695.00	\$695.00	\$695.00		
(Undergraduate Special	Services: \$268, 2 microphones @ \$26 each =						
Fees/Annual)	\$52						
7510 Facilities Rental	5 classrooms in Cubberley x \$100/room = \$500	\$(500.00)	\$500.00	\$500.00	\$500.00		
(Undergraduate Special							
Fees/Annual) 7520	ABM Janitorial services: \$40 x 5 classrooms	\$(200.00)	\$200.00	\$200.00	\$200.00		
Facilities Janitorial	ABIT Sameonal Services. \$ 10 X S classicoms	\$(200.00)	\$200.00	\$200.00	\$200.00		
(Undergraduate Special							
Fees/Annual) 7710	Roundtrip airfare for speaker: \$400	\$(400.00)	\$400.00	\$400.00	\$400.00		
Travel Fares	, ,	+(:::::)	Ţ	4	4		
(Undergraduate Special Fees/Annual)							
7740	2 nights @ SLAC guest house: \$94.6 x 2 =	\$(189.20)	\$189.20	\$189.20	\$189.20		
Accomodations (Undergraduate Special	\$189.20						
Fees/Annual)							
Kwanzaa Celebration		\$(3,866.00)	\$3,866.00	\$3,866.00	\$3,866.00		
	inner, a speech, and performances to educate the com					exceptional effort I	ast year to i
6310 Honoraria Fees	Keynote speaker as well as several performances by student groups such as Talisman and	\$(1,000.00)	\$1,000.00	\$1,000.00	\$1,000.00		
(Undergraduate Special	Stanford Gospel Choir.						
Fees/Annual) 6560	Food for 300 catered by Stanford Catering: 300	\$(2,400.00)	\$2,400.00	\$2,400.00	\$2,400.00		
Event Food	x \$8 = 2400	4(2,100.00)	Ψ2,700.00	Ψ2,100.00	Ψ2,400.00		
(Undergraduate Special Fees/Annual)							
7220	300 copies on colored paper: 300 x .07	\$(21.00)	\$21.00	\$21.00	\$21.00		
Marketing Copies / Print							
Expenses (Undergraduate Special							
Fees/Annual)							
7420 Equipment Rental	Medium sound system from Event Services: \$268, 2 microphones @ 26 each = \$52	\$(320.00)	\$320.00	\$320.00	\$320.00		
(Undergraduate Special	\$200, 2 microphones @ 20 cach = \$52						
Fees/Annual) 7510	Ricker dining hall rental fee: \$50, Dining	#(12F 00)	#12E 00	#12E 00	#12E 00		
Facilities Rental	supervisor payment: \$15/hr x 5 hrs (setup,	\$(125.00)	\$125.00	\$125.00	\$125.00		
(Undergraduate Special	event, and cleanup) = \$75						
Fees/Annual) Martin Luther King, Jr. T	ribute	\$(3,032.70)	\$3,032.70	\$3,032.70	\$3,032.70		
	honor the life and accomplishments of Dr. Martin Lut		, -,	, -,	, -,		
6310	Keynote speaker familiar with the contemporary	\$(1,000.00)	\$1,000.00	\$1,000.00	\$1,000.00		
Honoraria Fees (Undergraduate Special	implications of MLK's thoughts and actions						
Fees/Annual)							
6560 Event Food	Dinner for 150 catered by Stanford Dining: 150 x \$8 = \$1200	\$(1,200.00)	\$1,200.00	\$1,200.00	\$1,200.00		
(Undergraduate Special	φ0 – φ1200						
Fees/Annual)	150 programs x .05 = \$7.50	#(7 F0)	#7 F0	#7 F0			
7140 Copies (Not Marketing)	130 programs A .03 - \$1.30	\$(7.50)	\$7.50	\$7.50	\$7.50		
(Undergraduate Special							
Fees/Annual) 7220	300 marketing flyers on colored paper: 300 x	\$(21.00)	\$21.00	\$21.00	\$21.00		
Marketing Copies / Print	.07	/	,	,	,		
Expenses (Undergraduate Special							
Fees/Annual)							
7420 Equipment Rental	Small sound system from Event Services: \$163, 2 microphones @ \$26 each = \$52	\$(215.00)	\$215.00	\$215.00	\$215.00		
(Undergraduate Special	2 microphones @ \$20 each = \$32						
Fees/Annual)	Round trip airfare for keynote speaker	φ(400 00)	#400 00	#400.00	#400.00		
7710 Travel Fares	пошна итр антаге тог кеуписе ѕреакег	\$(400.00)	\$400.00	\$400.00	\$400.00		
(Undergraduate Special							
Fees/Annual) 7740	2 nights @ SLAC guest house: \$94.60 x 2 nights	\$(189.20)	\$189.20	\$189.20	\$189.20		
Accomodations	= \$189.20	7(103.20)	Ψ103.20	Ψ103.20	Ψ103.20		
(Undergraduate Special Fees/Annual)							
Parents' Weekend Comm	nunity welcome	\$(1,841.00)	\$1,841.00	\$1,841.00	\$1,841.00		
An event during parents' w	eekend to showacase the accomplishments of several	VSOs and perfo	rming arts group	s and expose th	ose in attendan	ice to the cultural ri	chness and o
6560	Lunch for students and parents in attendance by	\$(750.00)	\$750.00	\$750.00	\$750.00		
Event Food (Undergraduate Special	Stanford Dining: $150 \times \$5 = \750						
Fees/Annual)	Co connecrable provided to CCA and NATA for			+750.00	+75000		
7020 Co-Sponsorship Expenses	Co-sponsorship provided to CSA and NAIJA for Caribbean and Nigerian cuisine, respectively	\$(750.00)	\$750.00	\$750.00	\$750.00		
(Undergraduate Special							
Fees/Annual)							

		Budgeted	Requested	Recommend	Approved	Petitioned	Elected
Parents' Weekend Com	munity welcome	\$(1,841.00)	\$1,841.00	\$1,841.00	\$1,841.00		
An event during parents'	weekend to showacase the accomplishments of seve	eral VSOs and perfor	ming arts group	s and expose th	ose in attendance	ce to the cultural i	richness and o
7220 Marketing Copies / Print Expenses (Undergraduate Special	300 flyers on colored paper: 300 x .07	\$(21.00)	\$21.00	\$21.00	\$21.00		
Fees/Annual)							
7420	Medium sound system from Event Services:	\$(320.00)	\$320.00	\$320.00	\$320.00		
Equipment Rental (Undergraduate Special	\$268, 2 microphones @ \$26 each = \$52	+(=====)	45-2112	45-2115	4		
Fees/Annual)		4/2 254 00\	#2 254 00	42.254.00	42.254.00		
The Diaspora Getdown	factor and the invite students to be a second	\$(2,351.00)	\$2,351.00	\$2,351.00	\$2,351.00	d d:cc	Ch
	foster community, invite students to become more Dinner for 150: 150 x \$8 = 1200					and differences ar	nong Stanford
6560 Event Food (Undergraduate Special	Diffile: 101 130. 130 x \$6 = 1200	\$(1,200.00)	\$1,200.00	\$1,200.00	\$1,200.00		
Fees/Annual) 7020 Co-Sponsorship Expenses (Undergraduate Special Fees/Annual)	Co-sponsorship of Carribbean (CSA) and Nigerian (NAIJA) cuisine for 100 students: 100 x \$8 = 800	\$(800.00)	\$800.00	\$800.00	\$800.00		
7140 Copies (Not Marketing) (Undergraduate Special	Event programs: 200 copies x .05	\$(10.00)	\$10.00	\$10.00	\$10.00		
Fees/Annual) 7220 Marketing Copies / Print Expenses	300 flyers on colored paper: 300 x .07	\$(21.00)	\$21.00	\$21.00	\$21.00		
(Undergraduate Special Fees/Annual) 7420	Medium sound system from Event Services:	\$(320.00)	\$320.00	\$320.00	\$320.00		
Equipment Rental (Undergraduate Special Fees/Annual)	\$268, 2 microphones @ \$26 each = \$52	+()	+				
APPLICATION TOTALS		\$(35,012.75)	\$35,012.75	\$35,012.75	\$35,012.75		